SIBEEIERN AR E —RIAEENZTE

S 3EE

—RIEFTERNEZTE () ZRDEVEDD,

B TEOREEZ A - Eﬁ%h%hﬂmmmmmtﬁ%

WRXDTEDPNA « THFREDOERREIF TRIC
B ()
MRX7 RA >t
SHM3EE SH2EE| o= SHM3EE SH2EE|  om
BB

28,516,000| 31,042,000 A 2526000 25,970,000] 29215000 A 3245000

N7 =58 2,546,000

SESEEX

2,666,000 1591000 1075000 3,202,000 1591000 1611000

Nz =&E A 536,000

RteEE

17,284,000] 16,833,000 451,000 17,192,000] 16,741,000 451,000

N =58 92,000

HESEEDEEF

852,000 916,000 A 64,000 852,000 916,000 A 64,000

N2 =& 0

NERET —EXFZE

58,803,000 57,953,000 850,000 65,495,000 65,399,000 96,000

Nz =&E A 6,692,000

EAVEA T —EREE

3,324,000 4020000] A 696000 1,000 1,000 0

Nz =48 3,323,000

(INZEEEET A 1,267,000 )
BIHRfREHIN S =58 FlieE 5,013,000 5634000 A 621,000 3,746,000 41260000 A 380,000
G it
116,458,000] 117,989,000 A 1,531,000 116,458,000| 117,989,000 A 1,531,000
INZ =48 0
SHM3E3F26H

fAaRllAAN UERNTSELRES
sk BH ES




SM3EE

—REFESNEZTE HEHEES @ist)

B (M)
M [X
Sl LI A it

HBheHEE »B SHM3FE | sM2EE teE (Y= SH3FE | SM2FE i35
EBREE FEENE VN 28,515,000 31,041,000 A 2,526,000\ A2 24,680,000 27,962,000{ A 3,282,000
TaeFF 1,000 1,000 O[=H%EEHE 1,290,000 1,253,000 37,000
0
5 28,516,000 31,042,000 A 2,526,000 £t 25,970,000 29,215,000 A 3,245,000

LEREEX B SHM3FE | sM2EE a3 (Y= SH3FEE | SM2FE L&
ENBUED RERE 700,000 800,000 A 100,000 BEABULEZE 400,000 420,000 A 20,000
SIEEEAEE BBhrE 100,000 100,000 OB FERALER 40,000 60,000 A 20,000
BEEH ke 426,000 500,000 A 74000(FAEEREX 400,000 430,000 A 30,000
Gilz3=)59 EEZEE 90,000 90,000 O|EMAB SR 80,000 92,000 A 12,000
RSV747EDZE |REPHES 1,200,000 0 1,200,000( 7~ = 7EENZ 1B 67,000 100,000 A 33,000
EIMES REE%E 50,000 70,000 A 20,000ETMEEE 50,000 50,000 0
HABUES BEENE 98,000 30,000 68,000(tt 2@ E&FEIL 0 278,000 A 278,000
HeEESEN BT 2,000 1,000 1,000|EE&E7% - FXE 164,000 160,000 4,000
ENEXRE 1,000 1,000 0
EPROE T TR EES 2,000,000 0 2,000,000
5T 2,666,000 1,591,000 1,075,000 £t 3,202,000 1,591,000 1,611,000

EteEXR =B SHM3FEE | sMN2EE i34 (Y= SH3EE | SM2FE L&
EEEREE M5t - fEEEE 10,768,000{ 10,383,000 385,000|15 - FEERHEIFEIR 10,768,000{ 10,383,000 385,000
EEREENEREE  |NRET - casmanmmny 5,192,000{ 5,132,000 60,000/ S C A& 4,423,000 4,308,000 115,000
Tt BihELEELE MREE « mwerase 486,000 450,000 36,0004 5 2 A EE 769,000 824,000 A 55,000
%_ NEFHZIEEL FREE - nusmxe 696,000 726,000 A 30,000 EimEEFLE TR 486,000 450,000 36,000
ﬁ EEENESENEE WX - aees 92,000 92,000 O/ T EE TS EE 696,000 726,000 A 30,000
=5 Biim=ite 50,000 50,000 O|EFRUEREHE 50,000 50,000 0
£ =t 17,284,000 16,833,000 451,000 =t 17,192,000 16,741,000 451,000

HASEEIRER e SH3FEE | SMN2FE i34 (Y= SH3EE | SM2FE L&
— B EED HREFEESE 442,000 506,000 A 64,000|—#% - 1RE - BF@th 442,000 506,000 A 64,000
IREEAEE A & 360,000 360,000 OfAESDER 360,000 360,000 0
BFEUEE HEZEEEHE 50,000 50,000 O|=%&E 50,000 50,000 0
0
=t 852,000 916,000 A 64,000 =t 852,000 916,000 A 64,000

NERRT—ERXFE B SHM3FEE | SMN2FE a3 B SH3EE | SM2FE g
R—LAVTH—EZ  |FEIXA - 54 7,955,000{ 4,728,000 3,227,000 A& 11,999,000{ 9,418,000 2,581,000
TAT—ER TEEINA - BFR 40,470,000 41,053,000 A 583,000 EXE 2,055,000 2,035,000 20,000
BENELE NERNA - BE 7,020,000{ 8,684,000 A 1,664,000(h@FF ALE 34,576,000 35620,000{ A 1,044,000
MERE (BERX) 3,306,000 3,432,000 A 126,000 EXE 7,200,000 7,807,000 A 607,000
EHBRENA 52,000 56,000 A 4000|BEAHE 7,676,000 8,544,000 A 868,000
0 EXE 1,989,000 1,975,000 14,000
=t 58,803,000 57,953,000 850,000 =t 65,495,000 65,399,000 96,000

EHhLEHNT—ERXEE B SHM3FEE | sMN2FE a3 B SH3EE | SM2FE g
BEALTH—ER BENEGN 2,036,000 2,736,000 A 700,000|E7%& 1,000 1,000 0

BBTAY—ER EIEN BN 1,288,000 1,284,000 4,000

=t 3,324,000 4,020,000 A 696,000 =t 1,000 1,000 0
AHRR RN ST Z ER 5,013,000 5,634,000 A 621,000 FliRE 3,746,000 4,126,000 A 380,000
INAEFt 116,458,000| 117,989,000 A 1,531,000 THEEH 116,458,000| 117,989,000 A 1,531,000




